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31. what is the molarity of a solution containing 96.09 of merhanol (ctl:oll)' in 35009 ol rvatcr'l
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35. What is the new boiling point of a aqueous sorution containing 0.5gm potassium tluoridc'l \otc thc Kb
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36. A solution contains 16.0 grams of methanor (cHroH),_23.}grams of ethanor (czHsoH) and 30'0 grams

of propanor tcrHroHl. lirrut is the mole fraction of ethanol? I ," ..,r" .. {-i ,,r }.r}
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37.rfa 3.00M solution was required how much of a 12.0M solution would be required to make l '5L'
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38. What is the mass percent of a 1s13n containing ;t5.0 g of potassium nitrate in 16.7 g ol.rrate r.',
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